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QUESTION 1

Which is not a valid Destination option for a General Logical Firewall rule?
A. Datacenter

B. Virtual App

C. MAC Set

D. Network

Correct Answer: C

QUESTION 2

You want to use an existing NSX Manager to extend logical networks to the ESXi hosts of a new cluster. What should
you do?

A. On the Installation > Host Preparation page of the Networking and Security section of the vSphere Web Client, click
the Install link for the new cluster.

B. On the Installation > Host Preparation page of the Networking and Security section of the vSphere Web Client, click
the Install link for each of the new hosts.

C. On the Installation > Management page of the Networking and Security section of the vSphere Web Client, click the
green plus sign to deploy a new NSX controller node to the new cluster.

D. On the Installation > Logical Network Preparation page of the Networking and Security section of the vSphere Web
Client, create a new Transport Zone for the new cluster.

Correct Answer: A

QUESTION 3

An administrator manages a TFTP server virtual machine that is connected to a Logical Switch with a VNI of 7321. The
TFTP server has been configured to use port 1069. An NSX Edge Service Gateway is connected to VNI 7321 and has
an uplink interface with access to the physical network. Assume external users can reach the Service Gateway.

What should the administrator configure to ensure external connections to the TFTP server are successful?

A. Create a DNAT rule with the original port of 69 and translated port of 1069.

B. Create a SNAT rule with the original port of 1069 and translated port of 69.

C. Create a SNAT rule with the original port of 69 and translated port of 1069.

D. Create a DNAT rule with the original port of 1069 and translated port of 69.

Correct Answer: A
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QUESTION 4

-- Exhibit --- Exhibit -
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An administrator has created the NSX network shown in the exhibit.

Both VMs use the same Distributed Router for their default gateway. VM-B receives an IP message from
VM-A.

What is the source MAC address of the IP message received by VM-B?

A. VM-A\'s MAC address.

B. VM-B\\'s default gateway\\'s MAC Address.

C. VM-A\W's default gateway\\'s MAC address.

D. Logical Switch 7321\\'s MAC address

Correct Answer: A

2V0-641 PDF Dumps | 2V0-641 VCE Dumps | 2V0-641 Practice Test 3/4


https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html

2024 Latest passditsure 2V0-641 PDF and VCE dumps Download

E VCE & PDF https://www.pass4itsure.com/2v0-641.html

PassditSure.com

QUESTION 5

An administrator needs to verify which port the switch manager is using. Which command should be used?

A. show controller-cluster status

B. show controller-cluster core stats

C. show controller-cluster connections

D. show controller-cluster logical-switches

Correct Answer: C
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